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	Our budget is not (                ) to renovate the cafeteria.

	After a long meeting, everyone was (                ).

	The governor (                ) the need for regional sports facilities.

	The merger will have serious (                ) for the workers.

	How should we (                ) (          ) our old furniture?

	We have (                ) new security measures.

	We (                ) that our water is clean.

	All the (                ) should be tested before assembly.

	The results were (                ) to our expectations.

	I thought my answer was (                ).

	They're trying to (                ) the cause of the accident.

	There is no scientific (                ) to support his theory.

	The government is trying to save financial (                ).

	The job fair will be held at the (                ) hall.

	Please (             ) the bottom portion of the form for your records.

	Our base salary is (                ) with bonuses.

	The construction project will (                ) a lot of new jobs.

	The company (                ) the second floor of the building.

	Jeff (                ) for Carla today.

	There is (                ) benefit in working together.


